HPE_CIEF10_X cone sensitivityYg,,=100

Tr10_x dN)=B11iXF10_x,dN*+B1YF10_x,4N)
+BigZr1g x4

10 Blj 0,2170 0,8357 —-0,0435=570
P60:3T £10 x 4A)=100,08

7,9 XF].O_X,S:O'BZJ'S

Yr10_x,§70,3316
50~~~ """ ~"~"~"~"~"~"~"~-=--=-=---
2,9

0,0

400 500 600
wavelengthA /nm

BE470-4A 1



HPE_CIEF10_X cone sensitivityYg,,=100

Tr10_x dN)=B11iXF10_x,dN*+B1YF10_x,4N)
+BigZr1g x4

10 Blj 0,2170 0,8357 —-0,0435=570
P55:3T £10 x 4A)=100,58

7,9 XF].O_X,S:O'3327

Yr10_x,§70,3411
50~~~ ~"~"~"~"~"~"~" """ ~"=-~-=-=---
2,9

0,0

400 500 600
wavelengthA /nm

BE470-4A 1



HPE_CIEF10_X cone sensitivityYg,,=100

Tr10_x dN)=B11iXF10_x,dN*+B1YF10_x,4N)
+BigZr1g x4

10 Blj 0,2170 0,8357 —-0,0435=570
P50:5T 10 xdA)=101,18

7,9 XF].O_X,S:O'3461

Yr10_x,§70,3519
50~~~ """ "~"~" """~ ~-=--=-=---
2,9

0,0

400 500 600
wavelengthA /nm

BE470-4A 1



HPE_CIEF10_X cone sensitivityYg,,=100

Tr10_x dN)=B11iXF10_x,dN*+B1YF10_x,4N)
+BigZr1g x4

10 Blj 0,2170 0,8357 —-0,0435=570
P45:5T (10 x N)=101,92

7,9 XF].O_X,S:O'BBZG

Yr10_x,50,3641
50~~~ """ ~"~"~" " """~ =------
2,9

0,0

400 500 600
wavelengthA /nm

BE470-4A 1



HPE_CIEF10_X cone sensitivityYg,,=100

Tr10_x dN)=B11iXF10_x,dN*+B1YF10_x,4N)
+BigZr1g x4

10 Blj 0,2170 0,8357 —-0,0435=570
P40:5T 10 x dN)=102,83

7,9 XF].O_X,S:O'3831

Yr10_x,50,3775
50—~~~ ~"~"~"~"~"~"-"~""~"=-~-=-=---
2,9

0,0

400 500 600
wavelengthA /nm

BE470-4A 1



HPE_CIEF10_X cone sensitivityYg,,=100

Tr10_x dN)=B11iXF10_x,dN*+B1YF10_x,4N)
+BigZr1g x4

10 Blj 0,2170 0,8357 —-0,0435=570
P35:5T £10_x N)=104,01

7,9 XF].O_X,S:O'4089

Yr10_x,$0,3917
50~~~ """~~~ ~"~"--"~"~"=-~-=-=---
2,9

0,0

400 500 600
wavelengthA /nm

BE470-4A 1



HPE_CIEF10_X cone sensitivityYg,,=100

Tr10_x dN)=B11iXF10_x,dN*+B1YF10_x,4N)
+BigZr1g x4

10 Blj 0,2170 0,8357 —-0,0435=570
P30:5T 10 x dA)=105,56

7,9 XF].O_X,S:O'4413

Yr10_x,50,4052
50—~~~ """ " "~ g~~~ ~-~"~~—-
2,9

0,0

400 500 600
wavelengthA /nm

BE470-4A 1



HPE_CIEF10_X cone sensitivityYg,,=100
I'F10_x dN)=B11Xr10_x A)*+B1Yr10_x dA)

10

7,9

5,01

2,9

0,0

400

+BigZr1g x4
Blj 0,2170 0,83§7 —-0,0435=570
P25:5T 19 x dN)=107,68
XF10 x.§°0,4816
Yr10_x,6°0,4147

500 600
wavelengthA /nm

BE470-4A 1




